RECEIVED
ANSAS CORPORATION COMMISSION
FED 1 6 2006

NOSERVATION DIVISION WICHITA, KS

KANSAS CORPORATION COMMISSION
OIL & GAS CONSERVATION DIVISION

WELL COMPLETION FORM WELL HISTORY – DESCRIPTION OF WELL & LEASE (

	Form ACO-1
	eptember 1999
	Form Must Be Typed
1.44	•

API No. 15 - 15-053-21162-0000 Operator: License # 3882 Name: SAMUEL GARY JR. & ASSOCIATES, INC. County: ELLSWORTH Sec. 34 Twp. 17 S. R. 10 🔲 East 🖾 West Address: 1670 BROADWAY, SUITE 3300 _____ feet from NORTH Line of Section City/State/Zip: DENVER, CO 80202-4838 Purchaser: GARY-WILLIAMS ENERGY CORPORATION feet from EAST Line of Section 900 Footages Calculated from Nearest Outside Section Corner: Operator Contact Person: TOM LARSON SE (circle one) (NE) Phone: (620) 653-7368 Lease Name: SCHROEDER-MAES Well #: ____ 5-34 Contractor: Name: PETROMARK DRILLING Field Name: WILDCAT License: 33323 ARBUCKLE Producing Formation: Wellsite Geologist: JUSTIN CARTER Elevation: Ground: _____1811' Kelly Bushing: ____ Designate Type of Completion: Total Depth: 3381 Plug Back Total Depth: X New Well Re-Entry Workover Amount of Surface Pipe Set and Cemented at ______433 SWD ____ SIOW ____ Temp Abd. X Oil Multiple State Cementing Collar Used? ☐ Yes 🛛 No ENHR SIGW Gas If yes, show depth set Feet Other (Core, WSW, Expl., Cathodic, etc) If Alternate II completion, cement circulated from If Workover/Re-entry: Old Well Info as follows: feet depth to ______w/ _____w/ Operator: Well Name: (Data must be collected from the Reserve Pit)

ALT IWHW Original Comp. Date: _____ Original Total Depth: ____ Re-perf. Conv. to Enhr./SWD Chloride content _____ ppm Fluid volume _____ bbls ___ Plug Back Total Depth Plug Back Docket No. _____ Dewatering method used Commingled Location of fluid disposal if hauled offsite: __ Dual Completion Docket No. Operator Name: ____ Other (SWD or Enhr.?) Docket No. Lease Name: _____ License No.: _____ Quarter _____ Sec. ____ Twp. ____ S. R. ___ 🔲 East 🗌 West 10/29/2005 11/14/2005 1/3/2006 Completion Date or Date Reached TD Spud Date or Docket No.: Recompletion Date Recompletion Date INSTRUCTIONS: An original and two copies of this information shall be filed with the Kansas Corporation Commission, 130 South Market-Room 2078, Wichita, Kansas 67202, within 120 days of the spud date, recompletion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information on side two of this form will be held confidential for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with all temporarily abandoned wells. All requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge. **KCC Office Use ONLY** ____ Letter of Confidentiality Attached Signature: SR. GEOLOGIST Date: If Denied, Yes Date: ____

My Commission Expires

Subscribed and sworn to before me this 15h day of

Date Commission Expires:

Wireline Log Received

UIC Distribution

Geologist Report Received CONFIDENTIAL

FEB 15 2006

Operator Name: _	SAMUEL GA	ARY JR &	ASSOC	CIATES,	INC.		Lease Name: _	SCHRO	DEDER-M	IAES	Well #: _	5-34
Sec. <u>34</u>	Twp17	S. R.	10	_ □	East 🛚 We	est	County:	ELLSW	ORTH_		<u> </u>	
INSTRUCTIONS: tool open and clos and flow rates if ga Attach final geolog	ed, flowing ar as to surface t	nd shut-in p est, along	oressures	s, whethe	r shut-in pres	sure reacl	all cores. Repor hed static level, h nore space is nee	ydrostatio	c pressure	es, bottom hole t	temperature, flu	iid recovery,
Drill Stem Tests To			Yes	×	No		₋og	Formation	n (Top), [epth and Datun		☐ Sample
Sample Sent to G	eological Sun	rey 🛚	Yes		No	Name TOPE					Top 2578'	-761'
Cores Taken			Yes	⊠	No	HEEB DOUG BRN L	BLAS				2837' 2866' 2956'	-1020' -1049' -1139'
Electric Log Run (Submit Copy))	⊠	Yes		No	LANS: ARBU	ING	REC	EIVEI RATION C) Ommission	2971' 3303'	-1154' -1486'
List All E. Logs Ru		. INDUCTION				TD			1 6 20		3381'	
	SONI	SITY - NEU C LOG OLOG	ITRON				CO	NSERVA	ITION DIV HITA, KS			
				SING RE		_	lew 🛛 Use		n etc			
	Size Hole	Size C		Weight			e, intermediate, p		# Sacks			
Purpose of string	Drilled	Set (in	O.D.)	Lbs./Ft	. Depth	_	Cement		Used		e and Percent /	Additives
SURFACE	12-1/4"	8-5	/8"	28	433'	CLAS	SS A		235 125	2% GEL & 3% 1/4#/SK FLOC		
PRODUCTION	7-7/8"	5-1	/2"	14	3379'	ASC			100		NITE , 3/4%CD	31
					ADDITIONAL	CEMENT	ING/SQUEEZE I	RECORD				
Purpose:		Top	epth Bottom		Тур	e of Ceme	ent	# Sacl	ks Used	Тур	e and Percent	Additives
Perforate Protect Ca Plug Back	.TD								· · · · · · · · · · · · · · · · · · ·			
Plug Off Z	one			<u> </u>								
Shots per Foot					dge Plugs Se erval Perforat					e, Shot, Cemen d of Material Us		ord Depth
4 JSPF	3306 - 3311					<u></u>	500 GAL 2	28% NE d	louble FE			3306-11
		,										
								·				
TUBING RECORI	D	Size 2	-3/8"	Set	At 322'	Packer At	Liner Run		Yes	⊠ No		1
Date of First, Res	umed Produc				ducing Metho	d	1					
	1/3/06						Flowing		Pumping		ift 🗆 O	ther (Explain)
Estimated Produc Per 24 Hours	tion	Oil 25	Bbls.	. (Gas M	Vicf	Water Bl	bls.	G 	as-Oil Ratio		Gravity
Disposition of Gas						METH	OD OF COMPLE	TION				Production Interval
	Sold	☐ Us	sed on Le	ease	□ O _i	pen Hole	⊠ Perf.	□ Du	ually Com		mingled _	3306-11
orriver, out						ther (Spec	cify)			FER (5	20 3 -	· · ·

KCC

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

CONFIDENTIAL FEB 1 5 2006

INVOICE

KCC_{Invoice Number: 099406}

Invoice Date: 11/16/05

151804

Sold Samuel Gary, Jr. & Assoc. % Larson Engineering, Inc.

562 W. Highway #4

Olmitz, KS 67561-8561

RECEIVED KANSAS CORPORATION COMMISSION

FEB 1 6 2006

CONSERVATION DIVISION WICHITA, KS

Cust I.D....: Gary

P.O. Number..: Schrader Mauss #5-34

P.O. Date...: 11/16/05

Due Date.: 12/16/05 Terms....: Net 30

To:

Item I.D./Desc.	Qty. Used		Unit	Price	Net	TX
Common	235.00		SKS	8.7000	2044.50	Т
Gel	5.00		SKS	14.0000	70.00	${f T}$
Chloride	7.00		SKS	38.0000	266.00	${f T}$
Handling	247.00		SKS	1.6000	395.20	E
Mileage	25.00		MILE	14.8200	370.50	E
247 sks @.06 pe	r sk per mi					
Surface	1.00		JOB	670.0000	670.00	E
Mileage pmp trk	25.00	,	MILE	5.0000	125.00	E
Extra Footage	133.00		PER	0.5500	73.15	E
Wooden Plug	1.00		EACH	55.0000	55.00	T

All Prices Are Net, Payable 30 Days Following	Subt
Date of Invoice. 1 1/2% Charged Thereafter.	Tax.
If Account CURRENT take Discount of \$ 406.93	Paym
ONLY if paid within 30 days from Invoice Date	Tota

total: : ments: al...:

4069.35

153.44

4222.79

0.00

DRLG COMP □W/O □LOE

ALLIED CEMENTING CO., INC. 22604 Federal Tax I.D.:

REMIT TO P.O. B RUSS	BOX 31 BELL, KAN	ISAS 6766	55		SER	VICE POINT: <u>مراالد</u>	1 Bend
1/ 0	SEC	TWP.	RANGE	CALLEDOUT	ON LOCATION	JOB START	JOB FUNGS
Schruder	<i>34</i>	5-24		uy Holy Rad 13		COUNTY	STATE 14.5,
OLD OR NEW)(Ci	WELL#_ircle one)	27	LOCATION / 144	17 1101 4 Mar 13	1111 110 2 5 43		
	_		2 ` .7	OWNER			
CONTRACTOR A	Patron Surf		u z	OWNER			
HOLE SIZE	. 12	<u> 夕 T.D</u>	434 H	CEMENT	*) ·2 ·	5180	
CASING SIZE	8		PTH 433 A	AMOUNT O	RDERED 4	5 AK Comi	non
TUBING SIZE		DEI			260	0 22500	
DRILL PIPE			PTH PTH				
TOOL PRES. MAX			NIMUM	COMMON_	235	<u>. @ 8.70</u>	2044,50
MEAS. LINE			DE JOINT	POZMIX _		_ @ <u></u>	100
CEMENT LEFT II	N CSG.	15 FT		GEL		@ 14,00	
PERFS.	-	2/		CHLORIDE		@ <i>38.00</i> @	266,00
DISPLACEMENT		26		ASC			
	EQU	IIPMENT			RECEIVE		
		//	11. M		INISAS CORPORATION	@	
PUMP TRUCK	CEMENT	ER <i>III</i>	Re M		162 د	2006	
# 224 BULK TRUCK	HELPER	- 1	m wi		ONSERVATION D		
# 25 T	DRIVER	54	win T.		WICHITA, K		
BULK TRUCK						@	
#	DRIVER			HANDLING	247	@ 1.60	395,20
				MILEAGE 6	25,247,6		370.50
	RE	MARKS:		5		TOTAI	3146,20
C. rculato	II da s	10 H 4	119 Mud PL	.mo	SERV	UCF	
my Ounis	17012 6	Was a	Phus D.SPI	4CL	SERV		·
Play Dow	NWIT	2 wate		DEPTH OF	JOB 43	134	
, ,				PUMP TRU	CK CHARGE	·	670.00
Comunt a	×1.6'	Errev	late To Su	EXTRA FO	OTAGE /32	@, <u>55</u>	13.15
				MILEAGE		@ <i>_5,00</i> @	125,00
				MANIFULI	O	@ 	
	_					@	
CHARGE TO:	amue		Yarv				a
		,				TOTA	868.15
STREET				······································			
CITY	ST	ГАТЕ <u> </u>	ZIP		PLUG & FLOA	AT EQUIPME	NT
			AK				
) hann	1-83	wooden Phung		55,00
		-	1/1/6				
To Allied Ceme	_		, , , ,				
You are hereby	•			nent		@	
and furnish cem contractor to do		-		wae			
done to satisfact						TOTA	55,00
contractor. I ha		•	•	AND			
CONDITIONS'							
				TOTAL CH	ARGE		
				DISCOUNT	Γ	IE DA	ID IN 30 DAVO
		1		DISCOUNT		II IA	11 11 30 DAIS
SIGNATUR È	Jina 7			Vin	Fahair	. «	
DIOINII ORB	11/11/6	.,,,,,			/ <u>((/)</u> // (/ <u>/</u>	TED NAME	.,

ALLIED CEMENTING CO., INC.

Federal Tax I.D.

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT

elvet Bind

ONLOCATION CALLED OUT RANGE 10 w Schroeder Humallerad BLTP

Allied Cementing Co., Inc P.C. Box 31

Russell, KS 67665

CONFIDENTIAL FEB 15 200%

KCC Invoice Number: 099476

Invoice Date: 11/21/05

Sold Samuel Gary, Jr. & Assoc. % Larson Engineering, Inc.

562 W. Highway #4

Olmitz, KS 67561-8561

RECEIVED KANSAS CORPORATION COMMISSION

FEB 1 6 2006

CONSERVATION DIVISION WICHITA, KS

Cust I.D....: Gary

P.O. Number..: Schroeder/Maes #5-34 P.O. Date...: 11/21/05

Due Date.: 12/21/05 Terms....: Net 30

Qty. Used	Unit	Price	Net	TX
125.00	SKS	8.1500	1018.75	Т
100.00	SKS	10.7500	1075.00	${f T}$
500.00	PER	1.0000	500.00	${f T}$
50.00	LBS	6.2500	312.50	${f T}$
16.00	LBS	5.7500	92.00	${f T}$
31.00	LBS	1.7000	52.70	${f T}$
6.00	SKS	15.7500	94.50	${f T}$
500.00	LBS	0.6000	300.00	T
265.00	SKS	1.6000	424.00	\mathbf{E}
25.00	MILE	15.9000	397.50	E
r sk per mi				
1.00	JOB	1320.0000	1320.00	\mathbf{E}
25.00	MILE	5.0000	125.00	E
1.00	PER	75.0000	75.00	E
	1			
	100.00 500.00 50.00 16.00 31.00 6.00 500.00 265.00 25.00 r sk per mi 1.00 25.00	125.00 SKS 100.00 PER 500.00 LBS 16.00 LBS 31.00 LBS 6.00 SKS 500.00 LBS 265.00 SKS 25.00 MILE r sk per mi 1.00 JOB 25.00 MILE	125.00 SKS 8.1500 100.00 SKS 10.7500 500.00 PER 1.0000 50.00 LBS 6.2500 16.00 LBS 5.7500 31.00 LBS 1.7000 6.00 SKS 15.7500 500.00 LBS 0.6000 265.00 SKS 1.6000 25.00 MILE 15.9000 r sk per mi 1.00 JOB 1320.0000 25.00 MILE 5.0000	125.00 SKS 8.1500 1018.75 100.00 SKS 10.7500 1075.00 500.00 PER 1.0000 500.00 50.00 LBS 6.2500 312.50 16.00 LBS 5.7500 92.00 31.00 LBS 1.7000 52.70 6.00 SKS 15.7500 94.50 500.00 LBS 0.6000 300.00 265.00 SKS 1.6000 424.00 25.00 MILE 15.9000 397.50 r sk per mi 1.00 JOB 1320.0000 125.00

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ 578.69 ONLY if paid within 30 days from Invoice Date

Subtotal: Tax...: Payments: Total . . . :

5786.95 217.06 0.00 6004.01

☐ DRLG X COMP ☐ W/O ☐ LOE

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

CONFIDENTIAL FEB 15 7076

KCCInvoice Number: 099406

V51804 Invoice Date: 11/16/05

RECEIVED KANSAS CORPORATION COMMISSION

FEB 1 6 2006

CONSERVATION DIVISION WICHITA, KS

Cust I.D....: Gary

P.O. Date...: 11/16/05

Sold Samuel Gary, Jr. & Assoc. To: % Larson Engineering, Inc.

562 W. Highway #4

Olmitz, KS 67561-8561

Due Date.: 12/16/05 Terms...: Net 30

Item I.D./Desc.	Qty. Used		Unit	Price	Net	TX
Common	235.00		SKS	8.7000	2044.50	Т
Gel	5.00		SKS	14.0000	70.00	${f T}$
Chloride	7.00		SKS	38.0000	266.00	T
Handling	247.00		SKS	1.6000	395.20	\mathbf{E}
Mileage	25.00		MILE	14.8200	370.50	E
247 sks @.06 pe	er sk per mi					
Surface	1.00		JOB	670.0000	670.00	E
Mileage pmp trk	25.00	1	MILE	5.0000	125.00	E
Extra Footage	133.00		PER	0.5500	73.15	Ε
Wooden Plug	1.00		EACH	55.0000	55.00	\mathbf{T}
_						

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ 406.93 ONLY if paid within 30 days from Invoice Date

Subtotal: Tax...: Payments: Total...:

0.00 4222.79

4069.35

153.44

⊠DRLG □COMP □W/O □LOE